THSEE NRXERR

[£F1641 A 5]
#iTH XHAR X & il
—fi ]
1A |HRRTHRELSR FTHEHFRER - HAXEE HE 10,000 10,000 -H
1A1E [EXEFLAEEERRBRR 28 5,000 5,000 -H
1A158 [BRAEVIILESGSERERTREL LT 3> B 30,000/ 30,000 -H
1A168 |HRRIHHNER £ils = 5,000/ 5,000 -H
1A178 |E#E®RRREREHE FFEE = 10,000 10,000 -H
1RA178 |HREMEEXMEES SHeERERR -HFR 5,000 5,000 -H
1A178 |&F# BARK 10,000 10,000 -H
18188 [MRESAALXISTHEMNE HiE 10,000 10,000 -H
1A238 [SHM6FNERRBAKRELESHES B 5,000 5,000 -H
1248 [MMEBABRIFERRZR] HE 5,000 5,000 -H
1A278 [RRFHEEAE DHEHFHER =8 12,110 12,110 - M
1278 (25 EHRRARISH6EHRESR] EER 10,307M 10,307M -H
1A308 [MEMBEIZHER HNE 5,000 5,000 -H
1A31A |NENEEZESHFR NE 10,000 10,000 -H
= 1444 132,417H 132,417 (144%) oM (0f%)
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